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Example: Factorial

* Definition
0!=1;
nl=n*(n-1) * ... * (n-(n-1)) *1=n*(n-1)!; n>0
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Iterative Factorial
factorial(0) = 1;
factorial(n) = n*n-1*n-2*...*n-(n-1)*1;

long factorial(int n) {
long fact;
if(n==0)
fact=1;
else
for(fact=n; n>1; n--)
fact=fact*(n-1);
return fact;

}



Recursive Factorial

factorial(0) = 1;
factorial(n) = n*factorial(n-1);

long factorial(int n) {
if (h==0) //Base case
return 1;
else
return n * factorial(n - 1); // Recursive call
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Computing Factorial Iteratively

factorial(o) = 1;

*1.

factorial(n) = n*(n-1)*...¥2*1;

factorial(4)
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Computing Factorial Iteratively

factorial(4) =4 * 3
=12 *2
=24*1
=24

USU Oregon State University

factorial(o) = 1;

factorial(n) = n*(n-1)*...¥2*1;



Computing Factorial Recursively
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Computing Factorial Recursively

factorial(o) = 1;
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Computing Factorial Recursively
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Computing Factorial Recursively

factorial(o) = 1;
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Computing Factorial Recursively

factorial(o) = 1;

factorial(n) = n*factorial(n-1);

factorial(4) = 4 * factorial(3)
=4 * (3 * factorial(2))
=4 * (3 *(2 * factorial(1)))
=4*(3*(2*(1*factorial(0))))
=4*(3*(2*(17*1)))
=4*(3%*(2%1))
=4 *(3*2)
=4*6
=24
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Differences

* Pros
— Readability

* Cons
— Efficiency
— Memory



Recursive Factorial

o beashoonly)

factorial(4)
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Recursive Factorial

~ factorial(4)

l Step 0: executes factorial(4)
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Space Required
for factorial(4)
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Recursive Factorial
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Recursive Factorial

factorial(4)
Step 0: executes factorial(4)

{return 4 * factorial(3 )I

lStep 1: executes factorial
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Recursive Factorial

factorial(4)
Step 0: executes factorial(4)

{return 4 * factorial(3 )I

lStep 1: executes factorial(3)

Ireturn 3 "“factorial(2)I

Step 2: executes fa
Stack

return 2 * factorial(li

. S Required
Step 3: effcutes factorial(1) for factorial(1)

Space Required
for factorial(2)

Iretum 1 * factorial( 0;

Space Required
for factorial(3)

Space Required
for factorial(4)
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Recursive Factorial

factorial(4)

Step 0: executes factorial(4)

{return 4 * factorial(3 )I

lStep 1: executes factorial(3)

Ireturn 3 "“factorial(2)I

Step 2: executes fact

return 2 * factorial(li

Step 3: exec

Iretum 1 * factorial(0
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Recursive Factorial

factorial(4)

Step 0: executes factorial(4)

{return 4 * factorial(3 )I

lStep 1: executes factorial

return 3 * factorial(2)

ep 3: executes factorial(1)

Step 5: return’l
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return 1
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Recursive Factorial

factorial(4)

Step 0: executes factorial(4)

{return 4 * factorial(3 )I

lStep 1: executes fact

Ireturn 3 "“factorial(2)I

: executes factorial(2)
Stack

* factorial(li

Step 6: return Step 3: executes factorial(1)

Space Required
for factorial(2)

| 1
return 1 * factorial(0) '
Space Required
‘ Step 4: executes factorial(0 for factorial(3)
Step 5: I'etU.I‘Il 1 < p ( ) Space Required

for factorial(4)
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Recursive Factorial

factorial(4)
Step 0: executes factorial(4)

{return 4 * factorial(3 )I

Step 2: executes factorial(2)
Step 7: return 2 Stack

return 2 * factorial(li

Step 6: return 1 Step 3: executes factorial(1)

| 1
return 1 * factorial(0) |
Space Required
‘ Step 4: executes factorial(0 for factorial(3)
Step 5: I'etU.I‘Il 1 < p ( ) Space Required

for factorial(4)
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I'etum ]. Main method




Recursive Factorial

factorial(4)

Step 0: executes factorial(4

J
return 4 * fa

Step 8: return 6 lStep 1: executes factorial(3)

Ireturn 3% factorial(2)I

Step 2: executes factorial(2)

Step 7: return 2 Stack
| |

return 2 * factorial(1)

Step 6: return 1 Step 3: executes factorial(1)

Imtum 1 * facto 'al(Oi
Step 5: return 1 < ‘ Step 4: executes factorial(0) T

for factorial(4)
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I'etum ]. Main method




Recursive Factorial

Step 0: executes factorial(4)
Step 9: return 24

{return 4% factorial(3)I

Step 8: return 6 ( lStep 1: executes factorial(3)

return 3* factor1a1(2)

Step 2: executes factorial(2)
Step 7: return 2

return 2 * factorial(li

Step 6: return 1 Step 3: executes factorial(1)

Imtum 1 * facto 'al(Oi
Step 5: return 1 < ‘ Step 4: executes factorial(0)
return 1
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Stack

Main method




